臺北巿立教育大學

100學年度研究所碩士班入學考試試題
班    別：數學系數學教育碩士班
科    目：基礎數學
考試時間：90分鐘【08:20 − 09:50】
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計算題（共100分）
1. Find the limit 
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2. Let 
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(a) Find a power series representation of 
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(b) Show that 
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3. (a)Let n be an integer with 
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(b)Show that 
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4. Prove that 
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5. Let 
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(a) Show that f is continuous at 0. (5分)

(b) Show that f is not differentiable at 0. (5分)
6. In
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is linearly dependent or linearly independent. (10分)  
7. Let the linear transformation 
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8. Find 
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9. Find the inverse of the matrix 
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10. Let 
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 be the transpose of an 
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不得使用計算機或任何儀具。








（第1頁，共2頁）
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